
ERRATA

1. pg. 65: The last sentence, continuing on to pg. 65: “It would contribute
to the electron spectrum dΓ(B̄ → Deν̄e)/dEe.” should read “It would
contribute to the electron spectrum dΓ(B̄ → D∗eν̄e)/dEe.”

2. pg. 67, Eq. (2.87): sign error in the h− term of FD The equation should
read:
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3. pg. 73, problem 4: The first two form factor relations are missing factors
of 2, and should should read
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4. pg. 74, problem 7: the second equation is missing −i, and should be
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5. pg. 112, Eq. (4.50): sign error in the ξ− term. The equation should
read:
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6. pg. 113, Eq. (4.56): sign errors in the h± equations. The equations
should read
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7. pg. 147, Eq. (5.67): a ′ missing on v:
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